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And the scholars purify it - PR QYA

Overview

The Xn»12 cites a dispute between »"1 and the 0°non regarding a perforated %>
n°2101 which was sealed by pouring lead into the hole; "1 maintains that it is 22p»
X while the 051 maintain that it remains 7170, Based on this &n> 72 the X7n)
concluded that n"9 maintains 7°2v17 X 7237 927, and therefore since the 7nvn is
metal (lead) the n>101 *93 is XMW %2apn. It is this type of n°2157 °25 which has 777w
mpn2. Our MB0IN analyzes this proof.

nooIn asks:
=919 9991 Y9N 920 INN 2297 XN NN 239N 9NN ON)

And if you will say; but how is it evident from here that »''" maintains %>7

T2, ete. Tryna NN -
= RDMYHYN NNIND 2UNT DIVN NI 229 NIVNT NN NIYT

Perhaps this which »''9 is X»w» it is because he considers it properly closed; it

is a functioning utensil -
= MONN Y PN R 599191 995 19193 N1V

And he is 8»w» this vessel 113771 as the law of 12131 93,2 but not from the law

of n>nn "3, (which would make it 0" &nv) -
- 91235 D97V 799 KNYYM NN 1YY 1aWN KY *D39M

And the 2°%51 do not consider the lead insert to be a Xn»5¥» 7n°no, so therefore

they are =7u% this n°5151 *9> completely (even 11277»), since it is considered a broken *93,
which is not 8?0 22pn.

! The xm asked if they were mXmI0 9M3 on N°2191 °95 because they are like 0771 *93, they should have the same 17 as
0711 22 and not have 7Ipn2 777w, but we learnt in a 73wn that N°2101 °%5 have Mpna 7170, The X3 answered that the
mwn is discussing a n°131 *2> that needed to be closed with lead, and so it is considered a n1an» 93 since the lead is
the 7nyn. We know that lead is a 7m¥n according to ", who rules that this type of a n°3151 *25 (with a lead insert) is
TRmIw 2apn. However, asks nv0n why does the X713 assume that this n°2131 993 is ARMIL 3P because of the lead (and
it will answer the s'R2x question) perhaps n"9 is Xnwvn because it is a complete n°2131 *73 (not a broken one), but not
because the lead is a 7nyni 127. If we assume this approach; the question remains why is there mpna 7770 by a *73
N7 even if it has a lead insert, since we cannot prove that anyone (even »"7) maintains that (the lead is a 127
7onYn7 or that) TnYn7 AR 7217 93777?!

2 We are now learning that the D»2m were Im3 that N°137 *22 are Axmw 2apn, that is why 2" is Xnun.

? MPOIN needs to explain what is the reason of the 2°n5n (who are 77vn). If we would assume (as the X723 does) that
n"7 is Xnwun because he considers the lead a 7°n¥»77 727, we can say that the 051 do not agree that the lead should be
so 2wn to make this N°2137 °93 into a N1DNM 93, however if we assume like NDOIN that »"7 is Rnvn because it is a
XN*5¥n 7N, what is the reason of the 01 who are 17vn. Therefore Moon explains. ..

* If the 0°non consider it a broken 93, it is not XMV 31 even 112777 (even if it is a *»3 which is 0" ARMIY Y2PN).
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Mo0IN answers:
- SRNIYN NMIND NN NNYY 591957 %Y 93N0NT VMY YN

And one can say that it was logical to the 7x7n, that everyone agrees that it is a

proper closing (the vessel is functional) -
= TRYNN NN T91N DN 9307 MONN 5 P10 RNMIINT NIRNIV NNVM NN 2297 219999

And their argument is that »''9 is X»w» this n°2107 °%2 with a Kn>=IRT IR, as

the law of a n>nn Y93, since n"7 maintains 79257 IR 977 9257 -
= NIV N 192972 TAN NOONINTH 129000 D090

However the 221 are =77 this °25 from a Xn>7IR7 XMW (since N°2127 °95 are not

n'"7n Xnon), however 312977 they admit that it is N%w
= N NNIYN NNINDT N9 995 Yy 191w *aY

For the 2°no1 were 213 on a n°>127 v that it is X 277 and it includes this case
as well since it is a Xn»hy» 7INL.

mooIN rejects an alternate explanation of the view of the 2°non (who argue with n"9):
- DN %935 7Y >2PYUNT DIYN Y 1°9101 190V 19297 Y995 PN YaN

But one cannot explain that when the 3129 ruled 97w» they meant completely

=17W even 132177, because they consider the n°>107 °55 like 9717 993, regarding which -
- TO9¥5 ARMIV 1Y PR W *HNX AYY 9750 DN 59 'KNSDINA 1399NT

We say in Xnoon; ‘a o911 %92 which became 2177 once, it can never have =
again forever’, and the same applies to a n°2131 *> -

moon explains his rejection:
— 1159 NOM MIANM 293 11 INY XNID>T 199 I3 IR NN 5291 193 19 ONT

For if indeed it is so (that the 2201 are »3% 777vA, since 'R AYW °0OW N°2101/070 995
a2wh IR 17 1R 21), how do we know that »''2 follows the 79»w% (and therefore

it is Xnv), perhaps he is not 8»w» this (repaired n°2151 °25) because of nonn 9> 7 -
= NIV I WO AW 910V DN DT DYDY RNODINA NPT NINT NMMIYLY DIINT DIV NIN

> We prefer not to make a npYon» in mx*s» (reality); like in this proposed explanation where one (n"9) says it is
properly closed and the other (2°257) maintains it is not properly closed; it is either properly closed or not; there
should be no np2nn. We would rather they argue in a point of law; whether we follow the 7°n¥» or the majority of
the "2>.

% The advantage of this w19 is that it fits easier into the words D>37un 225m, which indicate that it is completely
770 (not like Moo learns that it is N7 AW but 132772 KAY).

T3 (p"2) 0093,

® This means that it was broken and is no longer a °23. The expression is JN770 X7 7 JN2W 0717 773 (see R"H 2"D D299).

% Therefore since this N°227 *93 had a 77770 once (since it had a hole, it cannot be 7¥mW 72PN, like any broken >92),
therefore even though it was repaired it cannot become X»v again.

"9 If "9 is not Xnwn because of Tnyn, the original question remains. Why is there mpna 777w by a 12131 *23, but not
by a 0711 *93 (see footnote # 1). See ‘Thinking it over’.
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But rather he is Xnvn this repaired n°21071 °22 because he follows his reasoning
elsewhere. For n'"7 maintains in a 2957 Xnpo1n that o917 99> which became =370

(by breaking) can become 83w again.!" nooin shows where »" maintains this -
- 5919 1IN D391 MIPIPI DINNDN STHIWI PENNA YW Conn KNt

For we learnt there (in the 0°%57 Xnoo1n) the bottoms of pails and the bottoms

of broken vessels and 2°%577 nyap=p and their walls, etc. -
- Y951 79 5927 XanY) 1N ARMIVL DYDY O919 1A PRINN B9 INUY 190V

If he smoothed them and made them into utensils, you may fill the nkvn "» with

them, etc. and they are 782w %2p» henceforth, these are the words of %' -
= 9919 W HNN DYV 970V DN 93 Y5 099N OINONY

But the 2 2n say, ‘any o911 3, which became =372 for one hour, can never
again, etc. be xmw apn.

Mmoo offers an alternate explanation and X073 of our X72X:
= RDOYN NNND PUNT NI NN 229 929 HNINY 13°29)

And the 0"2w1 reads the text as follows; ‘and it is according to »''Ss who

considers the repaired *2> as a Rn>Hyn 72909 -
= TRYNN NN 7917 597 YINT D) KDY

And his text does not read; ‘for n"1 maintains 792Y»7 MR NI ©257 (as our text do) -
= NHYYN NNIND 1Y VYN INN 397 99D 1929 99N 29 19T V91

And the 0"2v1 explains that that the argument between 31271 2''9 is in this

issue, that »'' considers the poured lead as a Xnv9p» 72°00 and therefore it is Xnb -
- 591335 ©29101 795N RIIYYN NNSND INY $2PWN KY 1939

And the 1231 do not consider it a Xn>>5yn 7°n9, therefore they are completely®

77WN (even 1327177, since it is not a v9d) -
- Vs 402 199918 1Y RN ADIND NN N RNPYY 99191

But everyone agrees that if it was a Xn>>p» o508, we would follow the 7o»yn -

'S0 the n*11 %93 is XnvA as a (J1277A) M°131 *93. The nponn will be whether a n*>131\071 25 which became 717w can
again become 712771 Xnv (the view of 1"9) or not (the a°151m).

125" 1"y (p"2) o°93 XNDOIN

" They are considered bona fide o72.

" We see explicitly that 2" maintains that a 991 *23, which became 77t can be X1 2p» again in the future. So
that can be the reason why he is Xnvn (if we assume the w197 1X), but not because 7nvni1 IR 1277, We must therefore
conclude that the nponn between 2m »"1 is whether we follow the 72V or not. Otherwise (if we assume like the
wI9b 1R) the X3 did not answer its original question; ‘why do n°2131 *23 have mpn1a 77w,

15 See footnote # 4.

' See footnote # 6. According to the 0"awA there is this advantage also.

' The o"aw" assumes a priori that everyone agrees that 7ny» 902 191X, thus avoiding mooIn original question. The
0"awn is also ‘comfortable’ with having a nX>%»2 npY2nn, whether it is a Xn*%¥n 72°n0 or not (not like NBOIN [see
footnote # 5])
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$ P02 NNV Y YW PN 2299 a5
Therefore according to »''" who maintains it is a Xn>»5v» 7n°no it has 7mw
SRR, since it is a Mdnn 9.

Summary
mooIn assumes that there is no dispute between 2°»5m "7 whether it is a 71°N0

Xn>%¥n or not, rather the dispute is whether 7nyna Xk 797, while the o"awn
maintains that all agree 7nvnn nX 12717, and the dispute is whether it is a 772°n0
XN>5Yn or not.

Thinking it over
mooIn rejects the w92 X, because then we would have no proof that 2nX 12717

7nvnn.'® How then did the Xn3 derive form n"9 that he maintains Tav»7 MR 757,
perhaps he is Xnaun the n°2101 °23 only 132777, for he holds that a 27vw N°2121\07M 292
AR 15 W 2w (not like the 1127)2!"

18 See footnote # 10.
19 See R"wAn.
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